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Seventh Semester B.E. Degree iation, Dec.09/Jan.10
Computer ntegrated anufacturin

Time: 3 hr-. Max. Marks: 100

[N

i

Note: 1. Answer any FIVE full guestions, selectin
.1 TWO questions from each part.
2. Drar neat sketches  erever necessary.

PART - A
D«fine automation. Explal.  different types of auto. sation  stems. (10 Marks
‘The ; zrage part < in a certain baich nng plant e processed thro gh
an <vreg of six machines. There are 20 ne - 1 of parts laun h d cach week. Oth r
nt data are as follows.
op > ation time =6mi .
set up tims =5 hrs
Average  batch size =25 parts
i verage non-operation tima/batch = 10 hrs.
There are 18 machines in the plant. The plant operates an ve of 70 production
hrs/wezk.
i) 7 termine the ¢ad time r an average part.
11) . une the plant ca
itii  Detenr ne the plant wtilizatio . (10 Marks)

What d* yor un‘erstand by an automated flo- hne? Explain it with the h-lp of a neat sketch

and also list the obje-tives of aut flow line. {(1C Marks)
Explain the following transfer mec in automaied flow the system.
1) “king beam transfer bar system
11}  Geunzva mechanism. . (10 Marks)
ith exampies, upper bound and lov  b.und approaches io analyze automated
line without storage buffer. -~ (08 Marks)

The llowing data applies to a 12 statio. in-line transfer machine.

P =0.01 (all stations have an equal probability of failwe)

Te=0.3 min

Ta= 3 nun.

Using upper bound and Iower bound approaches, compute the follo ing:

i)  Frequency of line stops/cycle

1)  Average production rate

iii) Line cfiiciency. (08 Marks)
Explain briefly, partial automation in a flow lin (04 Marks)

E-plain  following terms inline b ancing:

i)  Minunum rational work element

ii) Total -ork content

iii) Cycle time

iv) Balance delay. (0. Ma ks)




n

8

F.)

a.
b.

Using largest candidats n 12 metha
) U ~truetr. o proed e diagre for this job
ity iftheideal cycle | =i to be 1.5 n v, - hiet is the minimum @ < of .
o~ quired?
i1y Cal v late the ~Sidelay. (12 7

PART-B
toiiny neat o ta 2 in-ine and dial (rotary type of avis ins ted - s ombly sysis
(1 Mol
Whet iz an automated guid v hicle system? 1 :plain the principic of worki 2 of an AGVS,
Alse tist th . applicatiomns of AGVS. {10 Marts)

With a ne ¢ s etch, - reirieval type of CAPP system. (10 Mar
What i3 material require "went planning? Eoplain th~ structure o, a MB® system. (105 ar -

Baplai - the salieni featurss of hori~ontal .nd - rtical a.is ’ cozotre and list their
appitcations. (10 fa_&s
Prcpw roatual part pro . - for ONC fnachining  a sioi - 1 holes in - mild st & plate.
ax in Fig.7(b) ssume - ____ for ' paranetzrs and nticae
th - datuin  nd " . fGand M codes s=d in the m. 10 Ma ks’

¢ a}¢ ll ‘:l ¥ ‘.)

q

b

-(3;;_

[ F= ——&880 — IR
i.7(b)  All dimensicons in mm.

Withneat sk es, explain ihe four basic configurations of " robots,
Descri = ‘end effectors’ an *sensors’ wi ta rol ts. {08 M- r3}

20f3
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